





5 7Roll a ¥ sh= AF-E 100 7 4ttt o]uf,
o172

® 50 ¢ o Xa

a
100

@7‘?‘1 @5000‘?’_

A]

=]
=

® 20a

o}

=



4. e RS wEA @ e

@D (+36) + (+9) = —4 @ (-30) = (-5) = -6
® (+18) +(-3) = -6 @ (-24) = (+6) =4

®0+(+7)="7



oF

1o

o 2AE AHgote] UEhd Ao g &3

@ 50 YxiE]

Mo

A

%

tlo

ZZ8 x M9 714 ¢ 50x 9@

129
@ 7}22] 2017 aem , AR Zol7k bem 1 HAZH
: 2(a+b)cm

oflh
1o

=4
® dkm ©] ABE A akm 9] £ 0T AL 1
AR
a

@ 5 7ol y Yl

find

R

i
i,

>,

)

Atk 1 e gk S ¥
® am + bem

i

=l

(100a + b) cm



6. T8 F 71 x, « o Aol $ AL
D xxyXyXx=xxyy
@ axcxexex(-1) = -lac®

® ax (3x-6y) = a(3x - 6y)

5
@ xxy+5=fx

y
3+4+a

3 +9=
® 3+a 9




7.

S &wE500g

=

oo

@ 0.05x%
@ 5x%

® 0.5x%



8.

a+b+c B A 75 AeFste] Uehiw?

D abe @% ® < ®

ab bc



ofl
1o
i

Jolg BApA 0=

olut
=2 =



AHgEH Ao 2 YERfA?

i

10. the Foldl BE Bt

xkm 9] A8 E A% 3km 2 Aol 74 of A A7t

® 3 A @ 2 Az ® 3x Al7H
X

@ x+3 A7+ @ x* AIZE



